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Timecorrektronfencl.io#-F)
No partition function in general in non eg

stat meets bk no way to say whet is PCX)

since it depends on how the system got to ✗

Instead
,
we study TCFS, to see how long

certain quantities are correlated
in time

TCFS can be used to compute things like
Diffusion

,
viscosity, thermal conductivity and

spectroscopic signals

Measurements are now the averages of
observables



<A> =¥fFdt Acts
Fluctuating are diff from mean

,

SA= Alt) - LA>

Fluctuations are correlated in time, and

we want to
know for how long
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If at equilibrium on non eq steady skk,
doesn't depend on initial time, only
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Many experiments measure
"spectral density "
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Eg : optical absorption ↳ FT of dipole -

dipole correlation fnehin

Eg 2 : velocity correlations related to diffusion

constant! To see, hare to

know real deft of diffusion



Diffusion equation (will do in Id)

plx,t) is concentration at ✗ at time t

✗ consider
,

✓
what does this mean

,
when
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Now
,
whet does v -v correlation function

look like for Langevin process ?
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at large 2
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first term dominates
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formula
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